PSSC Trajectory Problems

1. Red Elk leaves the 10m board with an initial horizontal velocity of 3.2 m/s.  What horizontal distance does he travel before striking the water?

2. A cliff jumper lands 3.6 m from the base of a cliff that is 9.3 m tall.  With what horizontal velocity did the jumper leave the cliff above?

3. A ball rolls off a cliff with a speed of 4.53 m/s and lands on the ground having moved a horizontal distance of 6.73 m.  What is the cliff's height?

4. Thelma and Louise jump a canyon in a car.   The canyon is 360 m deep, 32 meters wide, and the side they are jumping from is 15 m higher than the side they are jumping to.  What speed must they travel to jump the canyon?

5. A golf ball has an initial  speed of 45 m/s at an angle of 34o with the ground.  (the ground is level)

a. To what maximum height does the ball travel?

b. What time is the ball in the air?

c. What horizontal distance does the ball travel before hitting the ground

6. A different golf ball has a hang time of 5.63 seconds and travels 89.6 m before hitting the ground. (the ground is level)

a. To what maximum height did the ball travel?

b. What was the initial horizontal velocity component of the ball?

c. What was the initial vertical velocity component of the ball?

d. What angle did the initial velocity vector form with the ground?

7. Another different golf ball has an initial  speed of 34 m/s at an angle of 65o with the ground.  (the ground is level)

a. To what maximum height does the ball travel?

b. What time is the ball in the air?

c. What horizontal distance does the ball travel before hitting the ground?

d. What is the speed of the ball 1.5 seconds after leaving the ground?

e. What is the speed of the ball when it is 10. m off the ground?

f. When during the trajectory is its speed the least?

